Soustraction (A)

92
— 60

37
— 30

Calculez la différence.

/ 5

i

-1
—

i

00
— 32

30
— 23

30
— 40

60

24
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Soustraction Solutions (A)

Calculez la différence.

15
— 15
0

00
— 32
24

30
— 23
13
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Soustraction (B)

\ \ \ \
f f

29
11

60

Calculez la différence.

/ 5

i

-1
—

i

69
— 063

29
— 29

42
12

87
22

O
03
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Soustraction Solutions (B)

Calculez la différence.

|
O O

42

30
87

60

O
— 93
4




Soustraction (C)

L \ \ \
I f

L \ L \
I I

Calculez la différence.

O3
— 42

30
— 41

32
— 12

20
20

03
43
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Soustraction Solutions (C)

Calculez la différence.

O3
— 42
00
30
41
45

32
— 12
20

20
20

03
43

10
90

0O
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Soustraction (D)

\ \ \ \
f f

29
20

Calculez la différence.

/ 8
i

-1

i

37
— 20

O3
— 93

43
10

87
10

L \ L \
I I
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Soustraction Solutions (D)

DO DD —
TS O NN

Calculez la différence.

13 43
— 18 - 10
0 33

37 87
— 20 — 10
17 (7

O3 19
— 23 — 19
D 0
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Soustraction (E)

34
22

43
22

11

Calculez la différence.

99
— 47

DO OO

o O

30
— 33

33
— 30

69
— 10
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Soustraction Solutions (E)

Calculez la différence.

34 99 30
22 — 47 — &3
12 D2 2
43 11 33
22— 11 = 30
21 0 3
44 6C 69
11 - 20 — 10
33 4( 0Y
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Soustraction (F)

20
10

29
10

(0
(0

Calculez la différence.

9
— 10

—
-1
—
—

33

D2
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Soustraction Solutions (F)

Calculez la différence.

9
— 10
69

S S o

L1

0




Soustraction (G)

64
— 30

29
— 27

(D
— 10

Calculez la différence.

43
— 44

L

O3
— 28

o4
_ 34

0Y
— 37

37
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Soustraction Solutions (G)

64
30

34

29
27

(D
10

00

Calculez la différence.

48

L L

O3
— 23
30

o4
_ 34
20

0Y
37

22

37
13

24
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Soustraction (H)

O3

30

Calculez la différence.

-1

i

’ 4
—

i

29
— 15

(0
— 76

29
12

(3
62

32
(1
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Soustraction Solutions (H)

Calculez la différence.

29

(3
62

16
32

L DN

|
-1 =1 | — =
OO BCTO e Ot
|
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Soustraction (I)

39
— 30

Calculez la différence.

34
— 13

00
— 30

33
— 3l

960
— 95

4
— 20

92
— 21

MathsLibres.com




Soustraction Solutions (I)

39
— 30

03
23

DO = Qo =

Calculez la différence.

34
— 13
21

00
— 30
30

33
— 3l
2

960
90

4
20

o4
92
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Soustraction (J)

(3
(1

33
21

L \ L \
I I

Calculez la différence.

39
— 21

27
— 20

00
T 1:3

H
} \

37
14

30
12
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Soustraction Solutions (J)

Calculez la différence.

39
— 21
13

27
— 20
1

00
T 1:3
13

37
14

23

30
12

23
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